3 землекопа выкопали траншею длиной 36 м за 2 дня. Сколько дней  понадобится 2 землекопам, чтобы выкопать ту же траншею?
Three workers had dug the trench length of 36 meters for 2 days. How many days will need 2 workers to dig the same trench?

Найдите площадь скатерти, если длина 10м, а ширина 0,5м.
Find the area of the tablecloth, if its length is ten meters and its width is a half a miter. 

Паровозик из Ромашково ехал в город 2 часа со скоростью 45 км/ч. Найдите расстояние между городом и Ромашково.

Locomotive from Romashkovo was going toTownfor 2 hours at a speed of forty-five kilometers per hour. Find the distance between RomashkovoandTown.

